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Example:
It looks as if it cam@s LoniHe set.gf Star Wars. It has four-wheel
drive and rises above rocky'surfagesyl tlowepsiand raises its nose when going up

and down hills. And when it comes to a Tiver, it turns amphibious: two hydrojets
power it along by blasting water under its body. There is room for two
passengers and a driver, who sit inside a glass bubble operating electronic,
aircraft-type controls. A vehicle so daring on land and water needs windscreen
wipers—but it doesn’t have any. Water molecules are disintegrated on the

screen’s surface by ultrasonic sensors.
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